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REETE
SHL 1.00] = 20,000 20,000
HiSsHE 1.00] = 15,000 15,000
REMUDE HHEST 1.00] = 50,000 50,000
BHEII)—=2Y 100 = 50,000 50,000
&5t 135,000
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EELGS TR 5500| m 2,500 137,500
B EPBR—NA5Y t12.5m 5500 i 1,800 99,000
BRI T 7O 4R 1.00| ~Fr 6,500 6,500
a—F—# 1.00] = 35,000 35,000
AMBEE 1.00] s 20,000 20,000
B &M 1.000 = 35,000 35,000
B A B 100 =X 40,000 40,000
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RHMAFEE 2[E %, A 55.00) m 2,000 110,000
AO3HBFEE 2[E % 2.00| ~Ph 5,000 10,000
EEEYORAEY bAL A 60.00[ ni 2,200 132,000
KA A—RyrBEY 4200 m 3,600 151,200
BE T ith SR & 1.000 = 20,000 20,000
PZNILE,S 100 = 40,000 40,000
B &M 1.00] =& 30,000 30,000
BRI B 1.00] = 40,000 40,000
ast 533,200

4/7




No. £ b1 .| H B E\H AL HM & & {ik
[kl 15.00] m 5,000 75,000
ARy ESAk 25.00| {& 5,000 125,000
FRfR A 1.00] = 30,000 30,000
At MEEE 13.00| #~Fhr 6,000 78,000
=Y 5 I7y 2.00| #Fh 25,000 50,000
LEREBETE 1.00] = 150,000 150,000
& 1.00] = 30,000 30,000
B A & 1.00] = 35,000 35,000
BT 7Y IHF-6308G 1.00] & 180,000 180,000
AEE.FLUE 1.00] =H 50,000 50,000
ENBREES a9 —h&El 1.00 #A 12,000 12,000
2 EELEEGREE 1.00] = 15,000 15,000
FEREH R T E 1.00] = 80,000 80,000
EHMGEE 1.00f = 15,000 15,000
B EM 1.00] = 15,000 15,000
B A E 1.00] =t 20,000 20,000
rMLABRSE 1.00| 4FR 35,000 35,000 [#1 T3
LTEBREEZELTEVWAEHES
&M 1.00f = 5,000 5,000
EHRE A B 1000 = 10,000 10,000
PEIFISEHETFEICTERAVLELEYS,

&t 1,010,000
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hyT4259—k BE 1.0| ~Ff 70,000 70,000

BogAy 1| #Ffr SHICHLTERR
LSRRI E 1.0l =H 60,000 60,000
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BRI AE 1.0] = 10,000 10,000
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HISEEHE 1.00] = 100,000 100,000
ISR E 1.00] = 100,000 100,000
SHBE 1.00f = 100,000 100,000
&t 300,000
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